Mathematics 325
Homework Assignment 3

Due Date:

Name:

Work exercise 2 on page 18.

2. A flexible chain of length / is hanging from one end x =0 but oscillates horizontally. Let
the x— axis point downward and the u — axis point to the right. Assume that the force of gravity
at each point of the chain equals the weight of the part of the chain below the point and is
directed tangentially along the chain. Assume that the oscillations are small. Find the partial
differential equation satisfied by the chain.
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